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Chapter 12: Review and Discussion Quesitons

1. Seen from Earth, Saturn's rings sometimes appear broad and brilliant but at other times seem to disappear. Why? 

Because Saturn has a tilt much like earths.  27* is enough to make the rings on its equatorial plane dissapear in it’s rotation.  

2. Why does Saturn have a less varied appearance than Jupiter?

Saturn has atmospheres that are 200km thick compared to Jupiter which has an 80km thick atmosphere.  Also the gravity on Jupiter is greater that’s why the two atmoshere’s vary.  We see only Saturn’s topmost layer which is very uniform in appearance.

3. What does Saturn's shape tell us about its deep interior?

Saturn is flater than Jupiter.  From that we can tell that it’s rotation period is short and fast, thus giving it a much flatter appearance.  It consist of hydrogen and helium while having a rocky core twice the size of Jupiters.

